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| RollNo. [ [ | | | (7. b
Computer :Svcience (NewCourse) S.S.C (9th) 1st Annual 2023 (w/z') u-luﬁmni
Paper : | Group : | Objective ('3 _,,f a Pr. 24
Time : 15 Minutes /"~ Giii) w15 Oy
Marks : 10 /[/ I Paper Code ' 5 [ I3| 5 ] Stal- |- 2.2 m-':?f'_ A |

£, / el L LAt L ire e b ozl LJir 7480026 U L ds Do C,B,AlzS ;!,[_dlr g )
K. W7 uf)(ﬂ-uf)‘d!—fl/ur L L—/l fUJ/l’uLJLJF .j’,
Note: - You have four cholces for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in ﬁom:of that
question number In your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result ng ma’*

SECTION-A ()i.»

Q.1 Questions/ =iy A B c : D
PRIV VT | S ‘ -
L. | Which symbol represents the copyright © @ X - ®
protected product? ;
2- -‘L.t'}’ld(t‘:?'é- LJ_QJU?LL-L&’?&?__ <p> <u> <b> <> .
tag is used to underline a text. o
3 et e o Lald | g V3 St A3 S
- | Which of the given is used to read an . - : Crypto -
Se b Bl d Li 0078 orfi
4. | Which tag is used to create a hyperlink in <a> <b> <hr> <br>
awebpage? s
4/.,,&;@54.4_Lau*&4f Ny .-
g1 -g.t'lols‘"/ S T Sz (W4 £ _fu..‘.g
' iRouting is a process of taking data from Channel Area Path Netwark
‘one device and sending It to another b
device In different
" oy Vb p TCP HTTP ISP SMTP
Internet service Is provided by -
o e A2A+B.O A .
T Expression A+(B.C) is equal to: LEs A fel) B+ (D) (A+B). (A+C)
e L 0 AUTEA
8. Number 20’ is equal to in 10110 10100 10011 10000:
binary system
w3 e T T e ,
9 Gl e 2T g iy P
' In a flowchart, symbol D Decision Input/output | Processing Connector
represents.
-C—-Jw[d/!‘dv.ﬂ(/Jﬁ - s/ ‘:”L-?’b J
10. IS a graphical representation of an Matrix Graph Flowchart Solution
algonthm
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Notes Section B is compulsory. Attempt any TWO questions from section C. B YY{ONL Letirneds c—cﬁ("r’.ﬂ-q_d /'U(u.'nﬁ_:d

SECTION-B /».»

2. W}ite short a;vswers to any Four parts. (4x2=8) -Ef-:/,f -:'/U}?/‘”? Lalzulgc.&f
i. What is meant by mark up language? '?c‘;;f/gc.é:@?l_ﬂt
ii. Give an example of a paired tag. S e Bz
iii. What is the use of processing symbol in a flowchart? S;c‘:—dt’x"k(KMWJJ!d:u‘dgeﬁ .
iv. What is the Act it Out strategy? ‘-’c‘_tfuubwé‘f:m’;}.pg
v. Write two advantages of algorithm. ~é4f;’l§;)£(3/,ﬁj,
vi. What is meant by absent data? ?4‘:_:1/,(;(4&5.,4?;(46
3. Write short answers to any Four parts. (4x2=8) -é/.f o&'ﬁf‘? L*"l'lkc—&f
i. Convert (69610 into hexadecimal. ZEU S 316 (69610%.5
ii. ;W’ha‘t is the difference between Bit and Byts? ?c‘-J/‘,\,fuﬁ..‘/’p:h..‘(. .
iii; erte ‘hames of any four storage devices. -érté)fwév%w&f A
iv. What is meant by truth values? ?q.)l/,l/c_mbiu‘ i
v. What is piracy? Given an example. St YA
vi. Whatis softifing? et e B
4. Write short answers to any Four parts. (4x2=8) Zfeuz Z—"Z'/‘gc;—é.f
i. Define the hyperlink. Ay ey
i, W_fite the code to insert two list item in a web page. -’4—55!/(2—/-&/11"7/7&”’1«)55’%:
iii. What is meant by user communication? ‘-"LJ’/‘Lff'— c}:g}!u‘!
iv. Differentiate between sender and receiver. ~5”’-¢J/.uﬁoﬁ'fd:’w'wfdff
v. For which purpose we use SMTP? vl S gl L J(./SMTP(?
vi. How many number of layers are there in computer network models. °U..’Jm/"3t/ 0% 5LJ3¢4’/‘&‘€; ;
(WA 082TLJir ) fr o
SECTION-C (Each question carries Eight 08 Marks)
5. Define a flowchart and write its advantages and 3L 17 ey P S
disadvantages. (8 ' ’
6. Write a note on different components of - -’&Ub‘«’;{,»"i‘ﬂﬁ(“/g&/ﬁ'xf
1 communication system.
r A Write a note on the following. (4+4) _2g¢i4¢f_5_?/xf
i Copyright | <Ay
i  Sabotage G

i

i
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Roll No. | |
Computer Science (NewCourse) S§.S.C (9t") 15t Annual 2023 A 0) it Aol
Paper : | Group : Il Objective ("3~ e ;..;;f | b g4
Time : 15 Minutes Gi) . e 15
Marks : 10 Paper Code J 5 | 8 3| 4 I SLaf Ny 10 ra
! & -
,af;/f;_,u& b Sl A AL 2 o ne s ih s bl iy n4Q¥3I2 IR E & D o C.B, AUz WL v, -:&/f ‘

‘ _‘Ilujﬂ‘yll ufbu-'-.;u‘JLfZ/.‘aV L é.fZ fd:/'l)-:&;'&u_[l‘ 5 i
Note: - You have faur choices for each objective type guestion as A, B, C and D, The choice which you think is correct; fill that circle in front of that .
question number In your answer book. Use marker or pen to fill the circles. Cutting or filling up two or rdre circles will result no mark.

. SECTION-A (i.» N
Qf-l"5_7j}‘2,ifv.';f"""v Questions/=!l» A B c b
e Qe B Ut S S i f ook w4 |
L | The process used for encoding data is Encryption Sabotage Patent Copyright AL
called g
| bt A4 IPv4 | il
2. The IPv4 address is made up of 31 29 32 3‘0 ‘e
binary bits. - '
3 e - {‘-/'U':A"b?b"a 1024 MB 1024 KB 1024 GB 1‘024."TB" \
" | One mega byte is equal to: S b £
A1 L(A+B).(A+C) E i : T
% Expression (A+B) . (A+C) is equal to: EL A-B+A.L AB.C) A_""fB*C). :5'_'
¥ Uidtsesd ' s
- Test data has types 3 9 7 2‘4[
C Ve zr S T S ey ‘-Pf?d/,, fxuﬁl Ak ¢dg;§ﬂ‘ 2 1
6. | __means to test if the required | Verification Algorithm Validation Flowchart, -
solution is there? ‘ _
&S 44 “Pakistan” 35 Ut HTML R
7 L\ -9”\)0‘*"”4-& <i> <b> <u> <br> ‘ :
in HTML, _ tag is used to print the f :
:‘wor;j,v‘=Paklstan’ in bold.
,';'4‘:;8%%&‘:&..‘)»!“@;!2__._1/ 2Ll : T
8. | An individual list item can contain | Orderedlist | Unorderedlist | Nested list Defination list
another entire list called: :
i LG LS | | "
g | e b Snv G sl s
_._isused for authenticationto entera |  Password Webpage Keyboard Network - "
 system. - ' i
10 : -u}'LUuu:ﬁT[ P Sy ‘/(/JJ»;’ = ﬂf;:/“ J/‘J:.’,{ ‘. “ "
" | Routers connect multiple____together Networks - Channels . Protocols Computers %
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Roll No. | (e L 557 Moal

Compyter s«{:" £e (NowCourse)  $.8.C (9%) 1% Annual 2023 () gl i
Time : 145 Hours Group : {f Paper (D 24 ' ' 133 :..;Af 145 toahy
Marks ‘: 40 ‘; Subjective (¥ [T, -3 40: A
Note':‘Seétijn Bis qompU-lsory. Attempt any Two questions from section C. -'4‘.:_,;’.-,uzé.;mmc.dfc.«,:fry-g_u’)ur»'.»:_»)

s o

* SECTION-B (v.»

2. Wri't,é"'ishort answers to any Four parts. (4x2=8) -y Sy L)lzulgc.éf ;

i. Nérrété the importance of testing. —%‘:ru&..:‘;‘?ld/.ﬁé -'i
ii. Whatis meant by identification and correction of errors? °C——"/lfre—<:fﬂﬂ'd‘il5JbW' i
iii. Differentiate between input and output notations in an _’fuuu/u“u,»u;d:,u,;,,l_,uuu'//,m Al

algorlthm N
iv. Draw a flowchart to find the volume of a cube. . -é.ta..:«/lg;ﬁﬁ_/(}'”(?(_,}f v

v. What is meant by a hypertext? . ?f‘—)'/&rcb‘wg/ﬂ v

vi. What is':méant by‘ content formatting in HTML? ?c‘-:ff'gc_..ﬁ':/ti..‘,?{u’.‘HTML i
3. Write short answers to any Four parts. (4x2=8) «25—:4/; ._-,g,z-/ii‘iﬁ,rzmgc_,‘jf A8

i, What is meant by number system? Cesl P rBlin i
i. ASCII stands for. ' c e g AsCH i

_Z.:r,&)lf(d/r‘fu(t’U:JUCJ:‘J/UUJ) (i

iii. Compare vmlatnle and non-volatile memory

iv. | State the Commutatlve Law —%{UBJJVL;J!'G v %
v. Define piracy. - ,é._,gf(fu:'/’g ¥ ?

vi. What is meant by counterfeiting? Cesl e PSP Vi b

4, Write sh’ort;ar_)swers to any Four parts. (4x2=8) -é{ Felis 4 L»lzl;gééf 24
i.. Define 6omzputer network. --Z:.;H_Q/JJL,.:,J/‘)_{ ol

i, State the process of routing. -Z/U%Jfg £, SRy P

iil. What'irs‘meant by transmission medium? ?c‘;_;t/l/c,é,‘gjf‘)v} ‘i”i EIN

".;.:l/g;,(Paired tag) L v
_&.{(‘jb&/.uf/g'ﬂ'._@/ﬂ v
LE G Lot i

iv. Wh“azt is meant by paired tags?
V. ‘Ex,p‘la_in;.,t‘he différence between hyperlink and anchor.
vi. Describ;e about the nested list.
| UL ALy ) fre
SECTION-C (Each question carries Eight 08 Marks)

5. Describe the strategies of planning a solution (8) _gf_fu&;c;d:‘fu’uf;,f‘jquﬁ&d" B
in detial. »
8. What is network topology? Describe ring (8) -éyu;:—r!/@jd/ RIS APV st nas 6
topology with a diagram. ’ ) ,
[ 7.  Explain the types of piracy. (8) -’é*’u’d/ru'd/vffl 7
| 26-123-1A-15000




